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B Transforming Formulas 4-7 Transforming Formulas (continued)

Objective: To transform a formula.

Example 3  Solve the formula C = # for r. State the restrictions, if any, for the formula

Example 1 Solve the formula F = ma for m. State the restrictions, if any, for the formula obtained to be meaningful.
obtained to be meaningful.
Solution F = ma To get m alone on one side, divide both sides by a. Solution C= # To get r out of the denominator, multiply both sides by r.
% =m,a#0 The denominator cannot be 0. Cr = m? To get r alone on one side, divide both sides by C.
r= m—c‘,%, C#0 The denominator cannot be 0.

Solve the given formula for the indicated variable. State the
restrictions, if any, for the formula obtained to be meaningful.

Solve the given formula for the indicated variable. State the

C F .
1. C=7dford d = ra 2. F=mafora a = 3 m =+ 0 restrictions, if any, for the formula obtained to be meaningful.
13.s="forvv=r .d=2 =
3.l=prtforti=;"7;p$0,r$0 4.V=Bhforhh=%;8¢o S B " 5 bomum gy
5.d = rf t—g- 0 6. s = g f =3.t+0 15 C=ﬁformg—mv¢0 162ax+1=ax+5forxx—ia#:0
. d = nrtort —r,r;f: .5 =gt orgg—'z, * . = P B . =
= %2
17.a=Y""foruu=v-att+0 18.v2=u2+2asforaa=v2,zisu,s¢0
Example 2  The formula A = %h(a + b) gives the area of a trapezoid with bases a units 5 o 25 - n M S S L T
and b units and with height / units. Use this formula to solve for the variable b in ’ 2 n ’ ¥ 3 & y
terms of A, h, and a. State the restrictions, if any, for the formula obtained to be
meaningful. U l=a+ (- Ddfordd =13 nx122 4= atbrerdy
Solution A= %h(a + b) To get clear of fractions, multiply both sides by 2. M b=4A-a-c-d
23. %y -2=2by+ lforbb= ",y #0 24 3aw+1=av-Thraas= -2, w0
2A = h(a + b) Divide both sides by h.
D 1
25. ax + b=cforb b =c - ax 2. D=2t —1) foraa= =2, t#
ZTA =a+b Subtract a from both sides. 2 2t - 1 2
bm + ¢ P
ZTA—a= b,h #+0 The denominator cannot be 0. 27. am — bm = cfora a = ——=—,m # 0 28-q=1+mf°fpp=100q—100

Solve the given formula for the indicated variable. State the Mixed Review Exercises

restrictions, if any, for the formula obtained to be meaningful. Simplify.
7.A=%bhforhh=2TA;b¢O 8.b=2b+yforyy= —b Ly-40+2y*-2y-8 2. @n - 3)@3n — 4) 6n% = 17n + 12
_ . 2% . 2bAL
’ - e ATP;P £0,t%0 3. a[3a — 2(4 + a)] aa 832 4. xy(x — 2y) x%y - 2xy?

9. 4= 2ho+c)forh h == 5ib# -cl0. A =P+ Priforr 5. 3x(? — 2x + 3) 3x% — 6x? + 9x 6. (—4%)° —64x°

7. 0203 n* n® 8. (24?7 - 3a%h?) 24a%?
W.oa=20+wfrl =252 12.C= 2 F - wforF F= LN 9. (x + 6)x — 5) X2 + x - 30 10. (a + 2b)ab ab + 2ab?

11. (4m + 5)8m + 7) 32m? + 68m + 35  12. 2203 + 2y — 1) 2y° + 4y® — 2y?
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